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/****************************************************************/

/* Step4-1 Proc-2.c 2 */

/****************************************************************/

#include <stdio.h> // fgets(), printf(), stdin()

#include <string.h> // strcpy(), strlen()

#include <sys/socket.h> // socket(), connect(), bind(), listen(), accept()
#include <sys/types.h> // socket(), connect(), bind(), accept()

#include <sys/un.h> // struct sockaddr_un

#include <unistd.h> // unlink(Q)

#define EVER 1
#define MAXLENGTH 256

Fdefine SOCKETNAME **/tmp/socket'|//

i’ //

( #define SOCKETNAME ''/tmp/socket" )

PF_UNIX UNIX




int main(int argc, char* argv[])
{
char strLine[MAXLENGTH];
int iFdSock, i1FdCri;
int iLength;
int iReturn;
[struct sockaddr_un sockAddre331 //
struct sockaddr_un criAddress; ) //

|

///’—struct sockaddr_un sockAddress

struct sockaddr _un criAddress
sockaddr_un UNIX LOCAL

struct sockaddr_un {

u_char sun_len; /* */
u_char sun_family; /* */

/* Step4-2 PF_UNIX */
char sun_path[104]; /* */

}s

\\\\¥ sockaddr_un

iReturn = MAXLENGTH;

// socket UNIX

if([iFdSock = socket(PF_UNIX, SOCK_STREAM, 0}) == -1){
printf(*'Socket error.¥n");
exit(-1);

by

//I.socket()

1IFdSock = socket(PF_UNIX, SOCK_STREAM, 0);
PF_UNIX SOCKSTREM 1FdSock

PF_UNIX

SOCK_STREAM

\ 0




// sockaddr_un 0

bzero((char*)&sockAddress, sizeof(sockAddress));

v

(2 . bzero() sockaddr_un \
bzero((char*)&sockAddress, sizeof(sockAddress));
bzero() sckaddr_un
\_ J
// socket

|sockAddress-sun_family = AF_UNIX;
strcpy(sockAddress.sun path, SOCKETNAME);

v

/ig-sockaddr_un

sockAddress.sun_family = AF_UNIX;
sockaddr_un
AF_UNIX

strcpy(sockAddress.sun_path, SOCKETNAME)

sun_family

~

J

\\‘¥ sockaddr_un sun_path
//
// blind()

unl 1nk(SOCKETNAME) ;

v

(ia-unlink()

unl ink(SOCKETNAME) ;
bind()

unlink()

\_




//
if(bind(iFdSock,
(struct sockaddr*)&sockAddress,
sizeof(sockAddress.sun_family) + strlen(SOCKETNAME))) == -1){
printf("'Bind error.¥n");
exit(-1);
+

//1;Tbind() “\\\

bind(iFdSock,
(struct sockaddr*)é&sockAddress,
sizeof(sockAddress.sun_family) + strlen(SOCKETNAME))

i FdScok sockAddress

-1 1FdScok
scokAddress
sizeof(sockAddress.sun_family) + strine(SOCKETNAME) sockAddress

//

ifilisten(iFdSock, 1) == -1){
printf("'Listen| error_¥n");
exit(-1);

}

(’g. listen() <\\

listen(iFdSock, 1)

iFdScok 1

\_ J

//
for( ; EVER; ){
iLength = sizeof(criAddress);



iIT((iFdCri q accept(iFdSock, (struct sockaddr*)&criAddress, &iLength)D ==

-1){
printf("*Accept error.¥n");
exit(-1);
¥

(ﬁ;.accept()

accept(iFdSock, (struct sockaddr*)&criAddress, &ilLength)

J

J

iFdScok
scokAddress &ilLengthh
\\‘sockAddress
//
while(iReturn =|read(iFdCri, strLine, MAXLENGTHjD{
printf("'%s', strLine);
}
/1;-read() / write(Q)
read(iFdCri, strLine, MAXLENGTH);
read() 1FdSock
strLine MAXLENGTH
strLine 4-1 2
\\» write()
close(1FdSock) ;
close(iFdCri);
[6- close()
close(i1FdSock);
close(iFdCri);
socket() close()
\\» fopen() fclose()
by
return O;



